Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5227-5229.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

__37.75'MAX. OA.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Vairico FlL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

REVISIONS

NOJ DATE

oaTE: 7/21/21

SCAlE:  N.T.S.

COMPOSITE EDGE
w/ BLINDS BETWEEN GLASS
INSWING /OUTSWING
"IMPACT" e
.z : 2
32 S
5 iz X
EVALUATED FOR USE IN THE STATE OF TEXAS f) o 50
The Fiberglass Door system described herein complies with the 2018 International Sy § T e
Residential Code (IRC), Sections R301 & R409 and the 2018 International Building Code = 2 ©
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions: - &
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco. //
2. This system has been tested and evaluated as a large missile impact protective /
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.
3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
4. Conditions not covered by this drawing are subject to further engineering analysis.
5. Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J* part
numbers. These door panels must be stained or painted within six months of
installation.
TABLE OF CONTENTS DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
SHEET # | DESCRIPTION
1 Typical Elevations, Design Pressures & General Notes CONFIGURATION INSWING OUTSWING
2 Door Panel Details POSITIVE NEGATIVE POSITIVE NEGATIVE
3 Elevations
4 Horizontal & Vertical Cross Sections X +50.0 -50.0 +50.0 -50.0
S Vertical Cross Sections
4 Buck & Frame Anchoring
7 Hardware Details
8 lite Frame & Glazing Details
9 Bill of Materials & Components

DWG, BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5227

sheer 1 of @

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-5229\C - Drawings\TX-5227-5229.dwg

0.5"
1 ~=—0.7"

EXTERIOR

3.6"

0.5" —=

I

W

5

-~
\i

=]

COMPOSITE

\ CAP
HINGE STILE D INTERIOR LOCK STILE
COMPOSITE
oo WO’OD) @ HORIZONTAL CROSS SECTION (ENGINEERED WOOD)
——  =— 04" 3.6" -
e EXTERIOR 0.4 —= I"
N . |EE = T
I B ﬂ g T i
S S COMPOSITE
HIh}GE STILE - D INTERIOR D - \ AP
LOCK STILE
{COMPOSITE/
ENGINEERED WOOD] @HORIZONTAL CROSS SECTION (ENGINEERED WOOD)
- 36" MAX. DOOR e 35.813" MAX. DOOR - ) 35.813" MAX. DOOR
PANEL WIDTH PANEL WIDTH PANEL WIDTH
{ 2 ) ( 2 > ( 2 >
1N 22\ 2
\2/ v \2/ ¥ \2/ Y

95.25" MAX. DOOR PANEL HEIGHT

°0
R

95.25" MAX. DOOR PANEL HEIGHT

40

BOOK DOOR - COMPOSITE EDGE

FIBERGLASS SKIN: 0.082" MIN. THK.
FOAM CORE: POLYURETHANE -1.9 PCF MIN.

9
] —ss

95.06" MAX. DOOR PANEL HEIGHT

41

/ /
4// 4//
/ /
> >
FIBERGLASS DOOR PANEL FIBERGLASS DOOR PANEL

HYBRID DOOR - COMPOSITE EDGE

o

s

/
V4

>

42 FIBERGLASS DOOR PANEL
U1 DOOR - COMPOSITE EDGE

TOP RAIL

(COMP./ENG. WOOD)

FOAM CORE
\

A\

3

L]

INTERIOR

 EXTERIOR

G
¥
/

=0

FIBERGLASS SKIN

n
/i

LA

0.85"

0.85"

BOTIOM RAL— [

(COMP.)

m VERTICAL CROSS SECTION

R A

\2/

oLy i
ST 12“‘2; 2y
PRt Q. ) g3 v
SR t.'.'f// ?? 20 0 & %
5 A it O £ -] W ©
Fuws  iE i %% £* 5 2P
g~ (0% &YS [ |8y ¢B BT
i 108 w28l N0 Z . Bl
a0t iwiw i e | .fdo
s Sl B : O O . n - .
B s PE e g S Eo® 2
e, 101 XS VfgE Zeg 53
hén, 101 AL N3 HEe bk
Qe S Z Lo S 23w OF
My win 2 ob bh
TOP RAIL Myt s 8R8. 2o
m ¢ 0ol
(COMP./ENG. WOOD) o xS E
K] Z8 Su
[ e o e}
a 256 24
o D - W
& mon g 5
) e
[ &
o
L 2 8
o o
FOAM CORE ||
\ g ‘
Bt n
T o <
N 50 t]
A\} Elg o
ooy =d
I | ge ||
s L eV I £ %
] . 88
E] gl * g °
LN =
& oy
CWRL &
INTERIOR )‘ EXTERIOR
& CHTT
L=l ] %
i S
S o
FIRERGLASS SKIN
Lt
,,,,,,,,, o 5
o
. =z
BOTIOM RAIL—" |- oate: 7,/21/21
{COMP.) =" ScAlE:  N.T.S.
el Y AU DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
/ 4\ VERTICAL CROSS SECTION 007

\2/

SHEET _2 oF _9

© 2021 R.W. BUILDING CONSULTANTS ING.



CON| SLINVLTIMNSNGD aNIiQTing m's L1202 @

zssli—~d4 # NOI I SNOISIASY

SHIANIONI m_<zw_wwwwwwwmum_ooww%%%ww SNOUVAIT Ad d1vd |ON Slolzle] ~ 9_

. . ON BuOo 0 by N
cesee oy L s o \S@% XTANESSY 80 18vd W = &l N
"ONI ‘SLNVLINSNOD ONIaING ~ z | 3_

HO0a SSv19¥3gld ~ e X
SZIYOL# 3'd SYXIL NYL-VNHIHL ] m o |x|E B
‘I'd IPIUYDS ‘4 UOPUAT :Ag peisdbdesd suswinoog 10Naodd 518 W 5 m &

T

x& * Y-
-~%wt..:. N
) =
ﬁﬁ,«ﬁ?fe

SIGNATURE SERIES
DEADBOLT:  SIGNATURE SERIES (980)

F51

DEADBOLT: B60

KNOB:
KNOB:

SCHLAGE
KWIKSET

SEE HARDWARE
CHART

Bmp622s-L2es-XL\sBumesq - D\(6zes-72es X1 sqwer dwo)d dwi o4 596 0.8 18 8.9 -XXXX QI XXX - 1QL\su} J0 1da@ sexay - \LNINVNYId N1 eulsy\siuslD\N'Z



TONE SINVLITINSNGOD NI "M 1208

zeall—d OlLLVHLSIOZ SNOISIATY
mmmmu_ozu ﬁ,qno"mmmmmwmmmmoaw._«,mnwm_wwmwk q<omum%o%m4&mzc%NQEOI AH 41vd [ON

LBLE'6SO'ELR ION suoUd :
GECEE "4 OOUIBA 09z Xog .o.m\N\M‘@ SA1BNISSY O Livd

“ONI ‘SINVLINSNOD ONiaTing
000 SSvIod38ld
STLHOL#F "3'd SWXEL NAL—VYAAIHL
-woﬂm .#hvmﬁzum ‘4 COvCXJ u%m “ﬂLUQ”L& ﬂﬁCQEBOOD u.—.ojoomm

RW
LFS

N.T.S.

TX-5227
SHEET _4 oF _9

oATE: 7/21/21

CHK. BY:
DRAWING NO.:

SCALE:
DWG. BY:

Fr gah.. i
2" TQINHOS 3 NOONAT 2

g
2
NH.WJJ;)JI)?\(

M\tn..«%on.;.&t.cano?w.. %
0% 5, IhY: @
NN ¥ Q«.... ...n..o/mu -u((
-~ %%\Ot".l.‘b.t‘ﬂbt-t&\“b\
-.~ Jg 30 e |

Towe

/ DRYWALL
Z EXT. SHEATHING

m HORIZONTAL CROSS SECTION

22 ShrrioldoleatTenlelo o dotuanRoSE b
o diftalod0d0 00000000030 0T006 0
olnf090800000002000008530 00003 Gl
cf#000000000000000000000000303030
08020008000 08030003036 0u00000 S
B So0d000002000008e0030 20008620
o0a0080003e300050500000 0000 &
i S02000003000ud00a00 0 0 aTe 0
02080003000 0000000000000000000 Gl
R soRoged0t0000030200086a000000
00850008000 003030008020 020802
apogelodelofoded

w Qutswing shown (Inswing similar)

=z \Y oz
< & o}
S o [s°4
LLd
oz L ot
Q £
ud
P e 0000000000000
e - . K AR G
AR 6U0800600060.
598600006000
800000000000 [274
A, O
o R 0058 6a%
9400000000000 —
0000690000000 o
Gosogacdcocoe
o (¥ —
A a0 a0 a a0k N [
400000060000 — [e]
060008000600
z o=
060880060t - . m
560000 CORS000 Joon § 2
00600000 Koo 73
Ko 090690 SR G08 C
. ™ o))
CORL £ P pre]
600000 <
600000 S=
9600060 [ %]
6300000
3600900
0000000 )
b o a0 fod
CLOLOOTY [7¢]
Q=
S0 Bk R o
0060000, W
000500 - C
505050 g |2
050000 5
ooncno A
ST . i
e SRS . —— “n“o“nnoou”o o)}
S S, " DO S e aa0aL ’l_ £
[N e e e ey e £y S 0400800 | o W
_A__ ><
I L
e
.
<
oz
[a%4
L
pa [

0.15" C-SINK
(TYP)

® s

/"2 "\ HORIZONTAL CROSS SECTION

%

w Outswing shown {Inswing similar]

T

~ 3

EXT. SHEATHING

BMp62es-L2es-X\sBumesa - D\(622S-722s X1 sqwer dwo) dwi 54 5gg 0.8 1 8.9 -XXXX dI XXX - 1Q1\su1 j0 1dag sexal - S\LNINVINYId N1 BWIBYI\SIUSIDNZ



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5227-5229.dwg

Notes:

1. Sill tem #32 is attached to jambs w/ {3) #8 X 2-1/2" pfh screws at each end.
Sill ttem #33 is attached fo jombs w/ {2} #8 X 2-1/2" pfh screws at each end.
Sill ltem #34 is aftached fo jambs utilizing {2} #10 X 2" pph SMS af each end.

INTERIOR

(0442

\ EXTERIOR

(&)

SEENOTE 1

32

71"\ VERTICAL CROSS SECTION

W Inswing Sill

\\

EXTERIOR

(0)a(e)

SEENOTE 1

\\

.

”//////////

7

INTERIOR

ONENC)

/" 2"\ VERTICAL CROSS SECTION

\?/ Outswing Sill

EXTERIOR

/X

SEENOTE1 .

INTERIOR

)

T~

R N

.

73"\ VERTICAL CROSS SECTION

\y Public Access Sill

x\.\\\\’\l\l
"w »
|57 & "‘. a3 83§2223
A G ot r}' )
ShE -:;*:
;_-;*é*r: 1Lt d' %,
e T
W IO 5
?’ wl? ENE :
‘{{,c 1 ;_”, o G
X R A
‘é,xs—‘»'.'. 101 ‘:"‘
N L
(e Eis et
I'{ N '\:"'
1&1‘"&1\7‘"

7' zC.“L,

b
oy
£33 0
Yo o
Es 9 U8
£ B zr
vy Omn o7
.2 = G
™ _jl\ 1]
. a
cg ;Qh"— L
9 Eo® 3
TH L2 5o
g‘l*- TN =X
) _IOCQ 7,353
zZ>n ng
o L
Z 0o OE
omn )
) ON guw
(44 4
o O Xz e
o z R O L.
[l "‘m” o)
g 9 . 4
& 502 &
i mod i
o o
mn =
N
& §5
E @ (3]
3 -
[+
fa)

THERMA—TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:
VERTICAL CROSS
SECTIONS

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 7/21/21

SCALE:

N.T.S.

DWG. BY:

RW

CHK. BY:

LFS

DRAWING NO.:
TX-5227

SHEET _ 5 oF _ 9

© 2021 R.W. BUILDING CONSULTANTS INC.



CONL SANVLINSNGD aNIiaging

‘Mt Le0oZg Qg

FRAME
N

2S8LL—4 # NOLVMLSIORN 40 ILVOLLLNIO SNOISIA3d i
SYIIANIONI TIWNOISSIJ0Hd 40 GHVOE SvXal ININOHONY TWVAA Ad 31vd_[ON Slolzlo] ~ 9_
2] L
LBLE'6SY'CLE ION Buoyd : N =lx INE ™
C6CEE 14 OOLIDA OCZ X08 ‘O \Sv@d KTEW3SSY d0 1dvd N M ~ P N|s
"ONI 'SINVLINSNOD ONIGTING NEEP z | 6_
4004 SSY19¥3Al LR Elg B
£ZLYOL# "3'd Swxal NAL—-VYINYTHL i w 6l l|E &
‘Ad WPIUYOS ‘4 uopuky Ag petpdald sjuswinso(q 119NaoNd 2|8 |3 W %
g ?
.::o,o.-ata:a-a-. 3 Mﬂv
% LaINHOS 3 NOTNILE
ﬂw:o:o.:.:':- : &v“
,v ¥ o, Swg
-~«. % .%mu)..mn
U3 A
LA AR oy
N
T v
gz
x
@
¥
[ <
S 5
fa)
D —
e
e
o0
b=
5
(*dAL) | —_ [dA) o0
« 7 T 9 _ _ XYW .§F1
1 l | 1 1 i .an
T o
o 2 =
3 s O
© MY <
o E <
_ | | | _ =
L.

Bmp6zes-L22s-XL\sBuimelq - J\(6225-¥zes X1) squier dwod duij 94 998 0.8 18 8.9 -XXXX QI XXX - 1AL\sut J0 1daq sexa] - A\LNINVINYId ML BULIBY [\SIUBID\Z



CON| SANVLINSNGD aNIging "My 1202 @

Z68LL~4 # NOUVMISIOZM 40 IivOldLN3ID SNOISIAZY -
SHAINIONT TVNOISSIHONd 40 Quvos SvyXal SUVIIA IHVMANVH A8 3ivg [ON

LELB6GY'TLE "ON 8uoyd -
SBSET 14 OOUIPA 0£Z Xog .O.&gg A1GNISSY HO Ldvd
*ONI ‘SINVIINSNOD ONIGTING

RW
LFS

TX-5227
SHEET _7 oOF _9

000 SSY1943gid
£ZIPOL# “I'd SvxIL NHL-VYWHTHL

T IPIMIYDG "4 UOpUAT 1Ag pedpdeld sjuswnoog 10NAaoMd

DATE: 7/21/21
scaE: N.T.S.

DWG. BY:
CHK. BY:

DRAWING NO.:

{
cmu @v
’, o xx

g5 eelyll k.

RIS o Jw...

% 1LQINHOS | NOUNA L

G L Y

¥ Ry
mhﬁ =
-~ﬁmwn. ..... . ...M.W.&(}uu; B

vee = >

-S. A mO,{;?,QV ® fe

JARERCN

s

Outswing

HINGE DETAIL

GWVF 40 jooa 8900 3000 y / .
dOL WO STL'LL QIEAH/ L1 ST o QNEAH/ LN .5 J

A\Y
HINGE DETAIL
Inswing

WVl 40 4000 - d00d J00da
dOLWQO¥d .2l'8 H004.5°5¢ J009.8°6C 004 .59 @ @ Vo
3 &
— e = = 3 _
- : . : : : —] s D
" =
ZZa T
g
e
(%)
S
00
<83 =
< [T Ie)
BAe P!
« O
\ o3 S3
X o
_ . . . . \\.hla/ . - . _ - D
{ { &5 m5) ] “ o
_(\ =
:N\~|m e - »—-\'0 nm
('L %) .8809 1 -~
[
a =
32 =
Za L
N/ 5 g ~ Q
= N ™
35 B} =
- 3 ac
3 —
& m =
Q L H
1 Y
3|~ =t =" 28 o
al © = P = = Qo [~ ]
alg A \ =6 Q
:A._ VM — Qi A
w o~ M i
3 < 8
3 & ~
o

Bmp6zes-L22s-X1\sBuimelq - J\(622s-vzes X1) squer dwod dwij 54 Dgg 0.8 18 8.9 -XXXX Al XXX - 1GL\su] 40 3daq sexaL - G\LNINVINYId NiL eulsy \siuald\Z



4.‘
(TYP.)

20.94'D.L.O.
WIDTH

#10 X 2" PPH SMS

/ (TYP.)

79" D.L.O. HEIGHT

10.6'O.C.
(TYP.)

g,

8"-0" LITE FRAME
ALUM. (6063-T5)

DOW 995 GLAZING
COMPOUND
NORSEAL CLOSED CELL — |~ VZ'GLASSBITE
PYC FOAM —1-1/4" O.A. THICK GLASS
EXTERIOR
— 1/8" ANNEALED GLASS
1|~ — 0090" SAFLEX PVB INTERLAYER
& \ "
: = 1/8" ANNEALED GLASS
-’ 8 ~
“ : C\ BLIND INSERT
? i AR SPACE
J 1/8" TEMPERED GLASS
INTERIOR
A FOAM SPACER

w/ ALUM INSERT

#10X2'PPHSMS  NORSEAL CLOSED
CELL PVC FOAM

G1 GLAZING DETAIL

1-1/4" Insulated Laminated Glass
w/ Internal Blinds

T

@ ALUMINUM IMPACT LITE FRAME

uj
oy
2 0
o3
PR O 0 &
Ex @ ol
5 oz
wu Y1 B
2 2 NG
t RN
c j -
§3 E oo 2
° 0
| o4 <':|n (o}
> Hio @
2 o ©
2> B
o~ - i
Z0m o
- SR. x
1) oxg a
h el 0 [
® Zm, O
] 9 . c
e 598 B
< donr <
o [o]
m §;§ o
B
c
S 2
i
3 =
]
(&)

CERTIFICATE OF REGISTRATION # F—11852

LITE FRAME
& GLAZING DETAILS

S
o
o

PEIQ

3 |z

e b

£e |7

=

-

[ [ x

§ (o)

S o

0. o
>.
tn
)
=
)
0
|
o
b
<
o
o
zZ

DATE: 7/21/21

scae: N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:

TX—5227

sHEET 8 oF 8

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5227-5229.dwg

© 2021 R.W. BuiLbing CoNsuLTANTS INC.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp Comp Jambs (TX 5224-52290\C - Drawings\TX-5227-5229.dwg

BILL OF MATERIALS
TEM # | DESCRIPTION MATERIAL
A 2X FRAMING (SG >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
F #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
1 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
9 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
20 #8 X 2-1/2" PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
26 #8 X 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 4" X 4"HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 OUTSWING THRESHOLD ALUM/COMP
34 PUBLIC ACCESS THRESHOLD ALUM
40 DOOR PANEL {BOOK]) -
41 DOOR PANEL (HYBRID) -
42 DOOR PANEL (U1) -

——

o
456" S
212" —]
@ COMPOSITE JAMB

4.56"

l—.——-— ]'5" i

32 INSWING THRESHOLD

Adjustable Composite Sill

PR N 8 T

7

Lyndon F. Schmidt, P.E.

. 26.7,

TEXAS P.E. #104123

813.659.9197

33 OUTSWING THRESHOLD

Composite Sill

6"

B | 0.082"

-

34 PUBLIC ACCESS THRESHOLD

Oty

T 1]

ATTT

L* 206" —
< : )SWEEP

|

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico Fl.. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOCR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ DATE

REVISIONS

OATE: 7/21/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5227

SHEET 9 oF 9

© 2021 R.W. BUILDING CONSULTANTS INE.



